(OH 0238 )

CLAD

GARAGE SOLUTIONS

EQUILIBREUR DE CHARGE 680kg

LOAD BALANCER 680kg

N° | Description Qté N° | Description Qté
1 | Chaine de levage/Lifting Chain 1 12 | Boulon M10x25/Bolt M10x25 4
2 Boulon M12><40/Bo|t M12x40 1 13 Ecrou verrouillage M]O/LOCkﬂut M10 4
3 | Ecrou verrouillage M12/Locknut M12 2 14_| Traverse/Cross Beam [
4 | Douille/Bushing 1 15 | Boulon M12x45/Bolt M12x45 1
5 | Plaque de connexion/Connecting Plate 2 16 | Douille/Bushing !
6 | Bloc coulissant/Sliding Block 1 17_| Manille/Shackle 2
7 | Tige filetée/Threaded Bar 1 18 | Support de chaine/Chain bracket set 4
8 | Plague de connexion/Connecting Plate 2 19_| Boulon MIOx35/Bolt MIOX35 1
9 | Manivelle/Crank ] 20 | Ecrou M10/Nut M10 T
10 | Goupille ressort/Spring Pin 2 21_| Poignée/Handle ]
| Douille/Bushing ] 22 | Ecrou M16/Nut M16 1

clas.com




